
1. (2pts) Here is the 10th row of Pascal's triangle; fill in the 11th row below it. 

1 10 45 120 210 252 210 120 45 10 1 
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3. (2pts) You and your roommate are going to split 10 luscious chocolates (five each) from a fancy box, where 
each candy is different. You get to go first - lucky you! In how many ways can you choose your five different 
chocolates? Show how Pascal's triangle gives the answer. 
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2. (2pts) What is particularly interesting about this portion of Yanghui's triangle? Translate the numbers in 
the top row, and explain what we learn about the Chinese bamboo rod number patterns. 
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4. (4pts) Use this version of Pascal's triangle to illustrate where the following sets of numbers appear in the 
triangle, in a systematic way: 

a. The natural ( counting) numbers 

b. The powers of two 
c. The triangular numbers 

d. The tetrahedral numbers 
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